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(hwquwn npwdltipny)

= ol AnLgbnwhG dwiuubnh gnpéwrwlywl nuuwlwngiwl | 5 wyn pynLd’

= = % E=1= pwdhalbnh, fudptph L nwubph, hOswtu Gub 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinebinwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniok | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wodwanidatpp =
1 1213 |4 5 6 7 8 9
LLNUUBLE SUUBN 116,259,587.5 104,969,085.3 11,290,502.2
2100/01|/0 | O oun<ULNEN ALNE3IBH <ULNU3LL 10,261,980.4 9,606,475.1 655,505.3
ounusnt@3NtFuLEN

wyn pynid’

2110|101 | 1 | 0 |OpbGunhp L gnpdwnhp dwnpuohGaén, 9,693,564.7 9,401,693.0 291,871.7
wbwnwlhwo quewdwpnid, phlwbuwlul b
hwpyuwpniguinuyhl hwpwpbnpnpniGG6n,
wnunwphl hwpwpbpnipiniGGaGn
nphg’

211101 | 1 | 1 |OptOunhp L gnpdwnhn dwnpdhGGtp, wsunwywh 9,679,564.7 9,387,693.0 291,871.7
Ywrwdwnnid
wyn pynid’
1. Ywpwywnpdwl dupdih wwhwwGnd 9,549,365.0 9,332,693.0 216,672.0
- U2uwwinnnGbph w2fuwwnwywpdbn L 4111 5,565,619.2 5,565,619.2 -
hwyblwydwnbbp
- Muwnqlwuwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 1,899,899.4 1,899,899.4 -
hwuwnniy ygwnbtn
- EGGpgbuinhy swrwynipnLGGep 4212 263,211.4 263,211.4 -
- UndntGwy SwrwjnipntGlEn 4213 18,874.3 18,874.3 -
- Yuwh SwrwnLpNLGaLN 4214 153,427.7 153,427.7 -
- Uywhnjwgnpwywb dwfuutn 4215 6,523.0 6,523.0 -
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 40,901.0 40,901.0 -
- UpuinwuwhiwOwh gnpéninniibbph gény dwfuubin 4222 114,500.0 114,500.0 -
- Ywnswywl Swewinipintbbtn 4231 14,480.0 14,480.0 -
- {wiwywngswihb Swrewjnipyntalbn 4232 48,780.0 48,780.0 -
- Uluwwnwywqih dwulwghunwywb qupgugiwl 4233 114,700.0 114,700.0 -
SwrwjnLpnLbbEn
- SbnGYwuinywywh Swrwjnientbbbn 4234 21,208.1 21,208.1 -
- Ywrwywnswlwb Swewjnipntbbbn 4235 35,000.0 35,000.0 -
- Ushgwnuwihb L hwOpwihG ubGbnh SwrewntpnLGGep 4236 26,600.0 26,600.0 -
- Lbpyuwywgnigswlwb dwiuubp 4237 114,732.0 114,732.0 -
- Canhwlntp pGnyph w)| SwrwjnLnLtGGEn 4239 48,350.6 48,350.6 -
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

- Uwubwghunwywb swrwjnipntGbtn 4241 13,020.9 13,020.9 -
- UbpGOwlbph L uwppwynpnidbbph pbpwghy 4252 197,933.2 197,933.2 -
Gnpngntd b wwhwwGnid
- Qpwublwyuwh Gnipbp L hwgniuwn 4261 76,142.9 76,142.9 -
- Spwluwnpuwihb Gnipkn 4264 167,288.2 167,288.2 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 23,218.6 23,218.6 -
- <wwnnty GwwuinwywihG wy Gneptn 4269 9,030.0 9,030.0 -
- Untpuhnhwltp ng $hOwbuwywl wenwywh 4511 226,042.8 226,042.8 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
- LOpwghy npwdwbnphbbp wewnwywh L 4638 23,527.2 23,5627.2 -
hwiwjopwiht wrluinpwiht YuqdwytpwnepntGbbnph
- W Gwwuinbbp pinuobihg 4729 53,240.0 53,240.0 -
- Mwpunwnhp y&wpokn 4823 3,442.5 3,442.5 -
- Uj) Swiuubn 4861 53,000.0 53,000.0 -
- Jwpswywb uwppwynpniitbn 5122 159,672.0 - 159,672.0
- Wy dbpbawobn L uwppwynpniibbp 5129 57,000.0 - 57,000.0
2. Ywpswlwl opyblyunGlnh hhoGwGnpngnid 130,199.7 55,000.0 75,199.7
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 55,000.0 55,000.0 -
wwhwwlntd
- GLlpknh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 75,199.7 - 75,199.7

2113|01| 1 | 3 |Upuwphl hwpwptnpnigntbGep 14,000.0 14,000.0 -
wyn pyntd’
1. GpLwl punuwphl dhowqquyhl Juwplwihy 14,000.0 14,000.0 -
20nphbynt 6wewynipint6G6ph nhowg YAwnpdwl
dwifuubin
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 14,000.0 14,000.0 -

2130|101 | 3 | 0 |Lanhwlnip pGnyph SweuwynipiniGGGn 95,245.7 93,632.1 1,613.6
nnphg’

213101 | 3 | 1 |Ufuwunwlwqih /Yunpbph/ gény panhwbnip pGnyeh 95,245.7 93,632.1 1,613.6
SwrwjnLpnLbbGn
wyn pynd’
1. Pwnwpuwghwluwl ugnipiul wlinbph 95,245.7 93,632.1 1,613.6
qnuilguwl Sweuyntpiwl gnpdntG6nt pjul
Yuwqdwlybpynid (wuindppuiljuwié
[hwqnpnipni GGGn)
- U2uwunnnGbph w2fuwwnwywpdbn L 4111 82,543.4 82,543.4 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLtGen 4212 4,388.0 4,388.0 -
- UndntGwy SwrwjnipnLGbEn 4213 170.8 170.8 -
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a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
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- Ywuwh SwrwjnipnLtGbp 4214 1,518.0 1,518.0 -
- Qnyph L uwppwynpniibbph yupédwywintpint 4216 624.3 624.3 -
- Ywnswywl Swewinipyntbbtn 4231 238.0 238.0 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 805.5 805.5 -
Gnpngntd b wwhwwGnid
- Qpuublwyuwhl Gnipbp L hwgniuwn 4261 1,973.4 1,973.4 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 1,299.4 1,299.4 -
- Mwpunwnhp y&wpokn 4823 71.3 71.3 -
- Jwpswywb uwppwynpniitbn 5122 1,613.6 - 1,613.6

2150|101 | 5 | 0 | LanhwhGnip pGniyph hwipuyhl 362,020.0 - 362,020.0
SweuyntpnLGG6&ph qony hGunnwqgnuinuwlwl b
Owfuwqduyhl wpfuwnwlplbn
nnphg’

215101 | 5 | 1 |COnhwbntp panyph hwapwihb Swewinipntbbtnh 362,020.0 - 362,020.0
qony hbuinwgnunuwywo L wfuwgdwht
wfuwunwbpltn
wyn pynd’
1. Lwfuwiqbuyhl wipfuwinwGplbn 204,020.0 - 204,020.0
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 204,020.0 - 204,020.0
2. Gpluil punuiph qifuwynp hunnwluigéh 90,000.0 - 90,000.0
hnwlwiwgdwl Ybapniénipnt G
- LwjuwgswhbGunwgnunwywb dwfuubkn 5134 90,000.0 - 90,000.0
3. Qnunpwynndwl L ureniquwunndwl 68,000.0 - 68,000.0
Ouwifuwqdbiph vpwilynid
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 68,000.0 - 68,000.0

2160|01| 6 | O | LanhwhGnip pGniyph hwipuyhl 111,150.0 111,150.0 -
SweuynipnLGGEn (wy nwubphl swwinluwlnn)
nnphg’

2161|01| 6 | 1 |COnhwbnip paniyph hwbpwihb SwrwntpintbObn (w) 111,150.0 111,150.0 -
nuwubpht swywunywbnn)
wyn pynid’
1. 2hdnidGbp, huygunhdnidlbp, nuitnwnpuiGh 59,300.0 59,300.0 -
npnnidGbph b YAahrGbph nbd Ybpwpllhs b
YApwpll pnnnplGbn GEpYuyuiglbihu
uwhowlywd YyawnnioGbn
- Mwpuwnhp y&wpokn 4823 59,300.0 59,300.0 -
2. Qnyph GLuindwdp hpwyniGplGEph 51,850.0 51,850.0 -
qpuiligiwl, qhwhwwndwl b
wnbntywwnynipiul inpuwdwnpdwl htwn
Ywwywé Jawpnidlbn
- Uwubwghunwyw swrwjnipintGbtn 4241 15,000.0 15,000.0 -
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- Mwpunwnhp y&wpokn 4823 36,850.0 36,850.0 -

2200(02| 0 | 0 nUCSMULNHB3NFL 41,570.0 41,570.0 -
wyn pynd’

2220|022 | 2 | 0 | Pwnuwpwghwlwl wwywnwwlnipintG 16,000.0 16,000.0 -
nphg’

222102 2 | 1 |Pwnwpwghwywb wwpunwwlntpnth 16,000.0 16,000.0 -
wyn pynd’
1. Pwnwpwghwluwl wwpwnwuwlbnpjull 16,000.0 16,000.0 -
wowlgnipint G
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 15,000.0 15,000.0 -
wwhwwlntd
- Qpwublwyuwh Gnipbp L hwgniuwn 4261 1,000.0 1,000.0 -

225002 | 5 | O | Mwpunnwwbnipgyni b (wy nuubphl swwuinlwGnn) 25,570.0 25,570.0 -
nnphg’

2251102 | 5 | 1 |Mwunwwbnipintb (w) nwubphb swwwnywbnn) 25,570.0 25,570.0 -
wyn pynid’
1. 2hGwwuwmnGbnh hwpywerdwl, gnpwlnsh, 16,150.0 16,150.0 -
gnpwhwyuwph b Jundwlul huuiplabnh
Yuquwlbpwdwlo wowlygnipint G
- Canhwlntp pGnyph wyp SwrwjnLpnLtGGEn 4239 16,150.0 16,150.0 -
2. Uypaunpwlpuyhl wipfuunnwlGpuyhl 9,420.0 9,420.0 -
Swipuynipywil hpuwiyuiGuigni J
- UntpuhnhwOtbp $howbuwlywb wbnwywh 4512 9,420.0 9,420.0 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

2400|040 | O SLSGEUULUL <UrurtMPN@3NFLLEN 25,568,723.5 22,865,131.9 2,703,591.6
wyn pynd’

242004 | 2 | 0 | YnupwnGunbunipynt b, winweuyhl 290,000.0 - 290,000.0
wnbwnbunipinil, dyGnpunipintl b
npunpnnip/nLi
nnphg’

2424|104 | 2 | 4 |Npngnid 290,000.0 - 290,000.0
wyn pynd’
1. Nenquwlb gulgh Juenignid L 290,000.0 - 290,000.0
YGpwlnpngniy
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 290,000.0 - 290,000.0

2430|104 | 3 | 0 | Ywnrbihp L Fabpgtinpyw 4,879,999.7 20,000.0 4,859,999.7

nnhg’
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= = % E=T pwdhbGbph, fudptph b nwubnh, hOswbu Gwl 3 = oG
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a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
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2435| 04 5 | FilGYyunpwtObpghw 4,879,999.7 20,000.0 4,859,999.7
wyn pynd’
1. GYpnwwlwl Gepnpntduyghl puwllyh 2,080,169.0 - 2,080,169.0
wowlgnipywdp hnwywlwgynn «Gpbwlh
taGpquiwipyni GwyGwnnpiuily dpughn
- GLlpbph L 2hOneyniGbEph Yuwwhuwy yepwbnpngned 5113 2,080,169.0 - 2,080,169.0
2. Uplbywt Gypnwuyh tabpquifubuynnntpiuil 1,565,953.8 - 1,565,953.8
L plwwwhwwluwlwl gnpépaybnpnpywi
$nanh wowlgnippudp hpwlwluwigynn
«GpLwGh FaGpquiwpnnt GwyGunnt piuil»
ppwduwpGnphuyhl dpwighn
- GLlpbph L 2hOneyniGbEnph Yuwwhuwy yepwbnpngned 5113 1,565,953.8 - 1,565,953.8
3. «GpLwh Fabpquiwpnm GwybGunntpyuwly 600,000.0 - 600,000.0
dpwaqnh hwdwphbwbuwynpnid
- GLlpbph L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 600,000.0 - 600,000.0
4. «Gypnwwiywl shnipiniGp Gplwih wplbuyhlo 519,872.5 15,000.0 504,872.5
hwduylph hwdwpy npwdwGnphuyhl dpwghn
- Uj) Swiuubn 4861 15,000.0 15,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 504,872.5 - 504,872.5
5. «GYpnuuwljuil dhnipynt Gp Gplwlh wpbuyhl 114,004.4 5,000.0 109,004.4
hwiwyGph hwdwpy dpwagnph
hwiwphGuwlbuwynpnid
- Uj) Swiuubn 4861 5,000.0 5,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 109,004.4 - 109,004.4

2450|104 | 5 | 0 | Spwhuwnpwn 22,639,810.5 21,192,218.6 1,447,591.9
nnphg’

245104 | 5 | 1 |Swlwwwphwiht npwbuwnpun 11,715,698.3 10,452,868.1 1,262,830.2
wyn pynd’
1. Uudpuyin-pinnlyw Swidyp Ybnuwlnpngnid b 3,942,500.0 3,942,500.0 -
wwhwwbniy
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 3,942,500.0 3,942,500.0 -
wwhwwlntd
2. Uupuywn-pbinnlyw swdyh hhoGulnpngnid 150,000.0 - 150,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 150,000.0 - 150,000.0
3. Gqnwpuinbnh Jbpwlnpngnid 193,838.0 193,838.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 193,838.0 193,838.0 -
wwhwwlntd
4. <Glwwuiinbnh J6Gpuwlnpngnid 130,095.0 99,500.0 30,595.0
- GLlpbnh L Ywenygbtph pGewghy Gnpngned b 4251 99,500.0 99,500.0 -
wwhwwlntd
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 30,595.0 - 30,595.0
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5. <twnpnuinlb wilgnidGbph Juenignid L 380,000.0 300,000.0 80,000.0
YGpwlnpngniy
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 300,000.0 300,000.0 -
wwhwwlntd
- GLlpbph L 2hOneyntGGBnph urenigned 5112 80,000.0 - 80,000.0
6. Ywinouyhl Ywenigywoéplbnh 180,000.0 180,000.0 -
Yepwlwiqlnid b wwhwwlnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 90,000.0 90,000.0 -
wwhwwlntd
- Uj) Swiuubn 4861 90,000.0 90,000.0 -
7. <pwiqnuil Yhnsh pupblwpgnid 5,000.0 5,000.0 -
- UndntGwy SwrwjnipnLGlEn 4213 2,000.0 2,000.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 3,000.0 3,000.0 -
wwhwwlntd
8. Uuwypninhlbnh L thnnnglbnh 696,000.0 88,000.0 608,000.0
YGpwlhwenignid L hhoGuwGnpngnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 88,000.0 88,000.0 -
wwhwwlntd
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 80,000.0 - 80,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 528,000.0 - 528,000.0
9. ®nnnglbph wwhwwlnid &Y whwaqnpdéniy 149,500.0 139,500.0 10,000.0
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 139,500.0 139,500.0 -
wwhwwlntd
- GLlpknh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 10,000.0 - 10,000.0
10. UdinnbyuywiGunnbnh Yuquiwlbnwdwla 538,220.6 493,220.6 45,000.0
Sweuyntpint
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 49,220.6 49,220.6 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
- Uj) Swiuubn 4861 444,000.0 444,000.0 -
- Wy dbpbawobn L uwppwynpniibbp 5129 45,000.0 - 45,000.0
11. BapwhwppwlyGbph Juwenignid 25,000.0 - 25,000.0
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 25,000.0 - 25,000.0
12. Uuhwlwl pwlyh wowlygnipyudp 1,094,714.9 1,094,714.9 -
hnwluwlwgynn punwpuyhla
Glopwlwenigyuwdplbinh b pwnwph Yuynto
quinquiguwilG GEpnpnmduyhl Spuwighn
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- Wy 6wluutp 4861 1,094,714.9 1,094,714.9 -
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MM
Puwdhl

Snnh
hunuip

"huu

Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl
pwdhaltnh, fudptph L nwubph, hOswtu Gwb
pintobitnwihb wfuutph inbwnbuwghwnwywh
nwuwywngiwb hnnwdétbph wodwonidibbpp

wyn pynd’

LOunwukOp

Jwpswywl pjniok

$nlnwyhb pniob

N

N

w

N

5

o Annywidrh
MM

7

8

9

13. ®nnnglbph, hpwwwpwlGbph b wyghlbph
Yuhwynpnig

339,235.2

25,000.0

314,235.2

- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b
wwhwwlntd

4251

23,000.0

23,000.0

- W Swfuubin

4861

2,000.0

2,000.0

- Wy dbpbawobp L uwppwynpniibbp

5129

289,885.2

289,885.2

- Ujnepbn L wwpwqwlep

5221

24,350.0

24,350.0

14. Uuhwluil pwiGyh wouwilygni pjuidp
hnwluwlwgynn punwpuyhla
Glopwlwenigduwdplbph b pwnwph Yuyni G
quinquiguwilb GEpnpm duyhlb Spuwignh
hwdwlywpqnd L juwewdwnpnid
(wunydhpuiyduid (hwqnpnipyni GG6n)

2,785,594.5

2,785,594.5

- Wy Swfuubin

4861

2,785,594.5

2,785,594.5

15. Uuhwluil pwiGyh wouwilygni pjuiip
hpwlwlwgynn pwnwpuyhlG
bapwlwenigywdéplbph L pwnwph Yuyni G
qunquigiwl GepnpnLduyhlb Gpypnpn dpwighn
(wunydhpuiyduid (hwqnpnipyni GG6n)

1,106,000.1

1,106,000.1

- W Swfuubin

4861

1,106,000.1

1,106,000.1

2455

04

funnnywywwpwh0 b wy; bnpwbuwnpun

10,924,112.2

10,739,350.5

184,761.7

wyn pynd’

1. YGpbjwlb6nh hhdGwlnpngntd

179,200.6

68.6

179,132.0

- Uwubwghunwywb swrwjnipntGbtn

4241

68.6

68.6

- Wy dbpbawobn L uwppwynpniibbp

5129

179,132.0

179,132.0

2. Gplwlbh dawnpnwnipunblh wpfuunnwGplbnh
Yuquwlybpwnid (wuindhpwlduwd
[hwqnpnipni GGGn)

2,754,929.2

2,754,929.2

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

4511

2,754,929.2

2,754,929.2

3. dbpgbwnlyw ki Ginpuwnpwluwynpunny
nipbnpunhnfuwnpowl Sweuyntpint o

607,831.6

602,201.9

5,629.7

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

4511

602,201.9

602,201.9

- GLlpbph L 2hOnepyntGGBnph urenigned

5112

5,629.7

5,629.7

4. dbpwlwenigdwi L qupquguwl
Gypnuwwluib pwilGyh wouwlygnipjuidp
bpnwlhwGwgynn Eplwih d6wnpnunihinbah
Yepwlwenigowl Eplypnpn dpwaghp
(wuwinydhpuiyduid (hwqnpnipyni GG6n)

348,071.3

348,071.3

- W Swfuubin

4861

348,071.3

348,071.3
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= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1(3 |4 5 6 7 8 9

5. GYypnwwiwil Gapnpntduyhl pwilGyh 1,609,734.6 1,509,734.6 -
wowlygnt pruwidp hpwlwbwgynn GplwlGh
dawnpnwnihnbah Jepwlwenigdwl Gpynpnpn
Spwghp (Wunndhpwlywd jhwqnpnipni GG6n)
- Uj) Swiuubn 4861 1,509,734.6 1,509,734.6 -
6. Gypnwwlwl shnpywl hwpbwlnipui 1,428,244.9 1,428,244.9 -
G6pnpnidughl 6pwqnh wowlygnt pyuiip
hnwlwiwgynn Gplwih dewnpnunihinbah
Ybnwlhwenigdwl Epypnpn npwdwGnphuyhla
Spwghp (Wunndhpwlywd jhwqnpnipni GG6n)
- Wy Swuutn 4861 1,428,244.9 1,428,244.9 -
7. Gpliwith vGwnpnunihuinbGh 4,096,100.0 4,096,100.0 -
Glpwlwen gduwdéplbnh
Gnpngnid(wuwiinyhpwlyywé (hwgnpnipynt GG6n)
- Uj) Swiuubn 4861 4,096,100.0 4,096,100.0 -

2470|104 | 7 | 0 | Uy powquywrltn 145,600.0 145,600.0 -
nnphg’

2473|104 | 7 | 3 |2pnuwynentpntl 145,600.0 145,600.0 -
wyn pynd’
1. 2pnuuwipponipjul quinquignty 145,600.0 145,600.0 -
- <wwnnty GwwuinwywihG wy Gneptn 4269 7,600.0 7,600.0 -
- Uj) Swiuubn 4861 138,000.0 138,000.0 -

2490|104 | 9 | 0 | SGwnbuwlywl hwpwpbpnpinGGGn (wyy (2,386,686.7) 1,507,313.3 (3,894,000.0)
nwubphl swunluwinn)
nnphg’

249104 | 9 | 1 |SGnbGuwywb hwpwpbpneentGbtn (wy nwubnphl (2,386,686.7) 1,507,313.3 (3,894,000.0)
swwinywlnn)
wyn pynid’
1. 2pnyG6ph wnbnwnpniy 45,000.0 45,000.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 45,000.0 45,000.0 -
2. Ugpwlygnipini O hwduylpuyhlG 17,492.0 17,492.0 -
Ywqdwlbpunipini GGERHG
hnunwplwynpnipini GGGph h6wn Juwdwé
wiyswp SweuynipintGG6ph dwiwnnigdwla L
qbiptquwluwwnbbph wwhwwlidwl hwdwn
- LOpwghy npwdwbnphbbp wewnwywh L 4637 17,492.0 17,492.0 -
hwdwGpltbph ng wrlunpwhG
Juaqiwybpwnipyntbbtnhl
3. Ywpwywnpdwl L wnbnEyundwluwl 180,100.0 168,100.0 12,000.0
wbfulnnghwibnh quipquignid
- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 168,100.0 168,100.0 -
(hwiwybpwh0) Yuwgiwytpwnipjntbbbph
- Ng Gynipwywl hhdOwywb shonglbp 5132 12,000.0 - 12,000.0
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

c % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

4. Uowlygnipini b hwduylpuyhl b ng 584,083.6 584,083.6 -
hwiwyGpuyhl yuquwlbnunipini 6G6ph
opwanbnpha
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 584,083.6 584,083.6 -
Juaqiwybpwnipyntbbephl
5. N5 phbwluwluwl wlyinhydlabph onnwpnidhg (3,921,000.0) - (3,921,000.0)
dnuunpbin
uucunNdg ant3eh hPUsNtUhS UNESLEN 8111 (520,000.0) - (520,000.0)
cunrguuuu ank3eh hPusNHUNS UNESLEN 8121 (1,000.0) - (1,000.0)
<N1h hPUSNHUKS UNESLEN 8411 (3,400,000.0) - (3,400,000.0)
6. SnGwlwl dhwynpniy 127,000.0 127,000.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 87,000.0 87,000.0 -
- Uj) Swiuubn 4861 40,000.0 40,000.0 -
7. <wunwlugdh wfuwwuinpuunduwl b 49,300.0 49,300.0 -
Yuwquidwl upfuuwnuwlplbn
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 49,300.0 49,300.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
8. Ubnnpniduyhl épwanpbph hppwywlwgnid 148,000.0 148,000.0 -
- SbnGYwunywywl swewjnipyntbbtn 4234 5,000.0 5,000.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 13,000.0 13,000.0 -
- UntpupnhwGtp ng $howbuwyub wwnwywb 4511 130,000.0 130,000.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
9. Nwpwnwnhp YAwnplbph quiGddwl 12,302.7 12,302.7 -
SwpuyntpntGGEN
- SbnGYwuinywywl swewjnipyntbbtn 4234 4,500.0 4,500.0 -
- LuhpwwnynipntbGbp wy pwhniye shGunwwGnnn 4819 7,802.7 7,802.7 -
Juaqiwybpwnipyntbbephl
10. UpwGdlGwhwnnty wuydwGl6nh Yuphp 15,000.0 - 15,000.0
nLGbgnn wGdwlg hwdwn duinsbhntpiuil
wwwhnyniy
- Wy dbpbawobn L uwppwynpniibbp 5129 15,000.0 - 15,000.0
11. SnbwywAwrbbph Juqiwlybpuntd 1,035.0 1,035.0 -
- Uj) Swiuubn 4861 1,035.0 1,035.0 -
12. <pwiwnwiyy (niénid wwhwiGgnn plpwighly 355,000.0 355,000.0 -
upfuwnuilplbinh hpnwilyulwgnt b
- Uj) Swiuubn 4861 355,000.0 355,000.0 -

2500(05|0 | 0 cNRUYU UhudusnNh mucsmuuNnt@3Ntu 20,124,054.6 18,957,054.6 1,167,000.0
wyn pynd’

2510|105 | 1 | 0 | UnpwhwlGmd 15,967,960.6 15,319,960.6 648,000.0
nnphg’
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MM
Puwdhl

Snnh
hunuip

"huu

Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl
pwdhaltnh, fudptph L nwubph, hOswtu Gwb
pintobitnwihb wfuutph inbwnbuwghwnwywh

nwuwywngiwb hnnwdétbph wodwonidibbpp

LOunwukOp

wyn pynd’

Jwpswywl pjniok

$nlnwyhb pniob

N

N

w

N

5

o Annywidrh
MM

7

8

9

2511

05

Unpwhwnid

15,967,960.6

15,319,960.6

648,000.0

wyn pynd’

1. UnpwhwiGnipnt 0 L vwlhunwpwilywl
Jwppnid

638,645.6

20,645.6

618,000.0

- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn

4267

20,000.0

20,000.0

- W Gwwuinbbp pinuobihg

4729

645.6

645.6

- GLlpbnh L 2hOneeyntGbBnph urenigned

5112

3,000.0

3,000.0

- GLlpbnh L 2hbneyniGbEph Yuwwhuwy yepwbnpngned

5113

20,000.0

20,000.0

- Spwluwnpuwhb uwppwynnpniitbn

5121

305,000.0

305,000.0

- Wy dbpbOwobn L uwppwynpniibbp

5129

290,000.0

290,000.0

2. Unpwdninbph uwwuwipydwl b
2hbwnwnwlwl wnph nbnuihnfudwl

SwpuyntpntGGEN

352,136.5

352,136.5

- UndntGwy SwrwjnipnLGbEGn

4213

352,136.5

352,136.5

3. Ubpwhwengiwl L qupqugdwl
Gypnuwwluib pwilGyh wouwlygnipjuidp
hpwywiwgynn «Gpbwlh Ynywn puhnlGGbph
Ywpwdwpdwiy npwdwGnphuyhl spwaghp
(wuwinydhpuiyduid (hwqnpnipyni GG6n)

521,560.1

521,560.1

- W Swfuubin

4861

521,560.1

521,560.1

4. Gdpnwuilywl GEpnpniduyhl puwllyp
wowlygnt pruwidp hpwluwbwigynn «Gpbwih
Ynywn puhnlGbph Yuewywndwly Spughp
(wunydhpuiyduid (hwqnpnipyni GG6n)

3,046,009.8

3,046,009.8

- W Swfuubin

4861

3,046,009.8

3,046,009.8

5. 6ynnwwlwia ohnipjuwl hwplbwlntpjuwl
GGpnpntduyhl gnpdhph wowlygntpiuwdp
hnwlwiwgynn «Gpbwlh Ynywn puhnblGEnh
Ywpwdwpdwiy npwdwGnphuyhl spwaghp
(wunydhpuiyduid (hwqnpnipyni GG6n)

3,006,892.8

3,006,892.8

- W Swfuubin

4861

3,006,892.8

3,006,892.8

6. UnbLbywl Gypnnwuyp LaEpquifuliuynnnipiuil
L plwwwhwwluwlwl gnpépaybnpnpywi
$nanh wowlgnippudp hpwlwluwigynn
«&Gpluwlh Ynywin puihnGl6nh Yurpwdwnoway
gpwduwpGnphuyhl spwighp (wuiinyhpwiyywd
[hwqnpnipni GGGn)

751,723.2

751,723.2

- W Swfuubin

4861

751,723.2

751,723.2

7. dbpwlwenigdwl L qupquguwl
Gypnuwwluib pwilGyh wouwlygnipjuidp
hpnwlwGwagynn «Gplwlh Ynywn punhnGlGEph
Ywpwywnpdwl spwghpy (wwnyhpwlyyws
[hwqnpnipni GG6n)

3,046,009.8

3,046,009.8

- W Swfuubin

4861

3,046,009.8

3,046,009.8
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= al| o Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl ﬁ wyjn pyntd’

g P % = 3 pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 12 1|3 |4 5 6 7 8 9

8. «Gpliwilh wnpwhwlnipnia b 4,604,982.8 4,574,982.8 30,000.0
uwlpunuwpwlul dwpnnidy huwduylGpuyhl
hhoGwnlyp wuwhwwGowl dwluubn
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 2,697,760.0 2,697,760.0 -
hwyblwygwnbbp
- Muwnqlwuwunpnuiltp, npwdwyw fupwiuniuncdGbn b 4112 80,932.8 80,932.8 -
hwuwnniy ygwnbtn
- UndntGwy SwrwjnipnLGbEn 4213 684,000.0 684,000.0 -
- Ywuwh SwrwjnipnLtGbp 4214 1,000.0 1,000.0 -
- Uywhnjwgnwywb dwfuutkn 4215 70,000.0 70,000.0 -
- Qnyph L uwppwynpnidbbph yupédwywintpintl 4216 5,040.0 5,040.0 -
- UpuinwuwhiwOwb gnpéninniibbph gény dwjuubin 4222 1,000.0 1,000.0 -
- {wiwywngswihb Swewjnipyntalbn 4232 600.0 600.0 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 5,000.0 5,000.0 -
- UbpbOwltbph L uwppwydnpnidbbph pbpwghy 4252 80,000.0 80,000.0 -
Gnpngntd b wwhwwGnid
- Qpwubywyuwh Gnipbp L hwgniuwn 4261 12,000.0 12,000.0 -
- Spwluwnpuwihb Gnipkn 4264 900,000.0 900,000.0 -
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 15,000.0 15,000.0 -
- <wwnnty GwwuinwywihG wy Gneptn 4269 20,000.0 20,000.0 -
- Mwpuwnhp y&wpokn 4823 2,650.0 2,650.0 -
- Jwpswywb uwppwynpniibbn 5122 15,000.0 - 15,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 5,000.0 - 5,000.0
- Ng Gynipwywl hhdOwywb shonglbp 5132 10,000.0 - 10,000.0

2520105 | 2 | 0 | YGnuwonbph hGrwgnid 274,000.0 - 274,000.0
nphg’

2521(05| 2 | 1 |Ubnuwenptph htrwgnid 274,000.0 - 274,000.0
wyn pynid’
1. Rpwhbrwgdwl YndniGhiwghnl guilgbph 274,000.0 - 274,000.0
Juenignio
- GLlpbph L 2hOnepyntGGBnph urenigned 5112 274,000.0 - 274,000.0

2530|105 | 3 | 0 | Cpowlw vhowduynph wnunnundwl n&U wuwypwn 38,683.0 38,683.0 -
nphg’

2531(05| 3 | 1 |Onh wnunundwl nbd wwjpwn 38,683.0 38,683.0 -

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’
= = % = pwdhaltnh, fudptph L nwubph, hOswtu Gwb % = DOnwakap
-:.% Z 3| € Eﬂ pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet
a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. QGwnbph hniG6ph dwppnid 38,683.0 38,683.0 -
- UndntGwy SwrwjnipnLGbEn 4213 38,683.0 38,683.0 -

2560|105 | 6 | 0 | Cpowlw dhowduynh wuwpunwwlbnipinta (wyy 3,843,411.0 3,598,411.0 245,000.0
nwubphl swunnluwbnn)
nnphg’

2561|05| 6 | 1 |Cpowyw dhowywinh wwwnwwbnipntt (wj; nwubphl 3,843,411.0 3,598,411.0 245,000.0
swwinywann)
wyn pynd’
1. Ywlw;s trwpwdplbph hhoGnid L 3,654,700.0 3,414,700.0 240,000.0
wwhwwbniy
- <wwnnty GwwuinwywihG wyp Gneptn 4269 14,700.0 14,700.0 -
- UntpupnhwGtp ng $howbuwyub weunwywb 4511 3,400,000.0 3,400,000.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
- GLlpbph L 2hOneyntGbBnph urenigned 5112 240,000.0 - 240,000.0
2. UfunnwhwGowl b dhounwqbpdédwl 25,091.0 25,091.0 -
Swipuynipynt (G6p /nbrunhquighw
- UndntGwy SwrwjnipnLGbEGn 4213 25,091.0 25,091.0 -
3. <wuwnwluwlwl gniquipuwlblbph 14,120.0 9,120.0 5,000.0
wwhwwanid L YGpwbnpngnid
- UndntGwy SwrwjnipnLGbEn 4213 9,120.0 9,120.0 -
- GLlpbph L 2hOneyntGGBnph urenigned 5112 5,000.0 - 5,000.0
4. Buhwenn Y&GnwohaE, Gwuwiqbpdm g 149,500.0 149,500.0 -
- UntpupnhwGtp ng $howbuwyub wwnwywb 4511 149,500.0 149,500.0 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2600106 0 | O pLULUNULUSHL ChuuruQrnHe3NFL G4 8,863,210.6 7,000,704.6 1,862,506.0

UnUNFLUL dunusnNt@3NFLLEN

wyn pynd’

2610|106 | 1 | 0 | PGwlhwpwluyhl ;hGwpwipnipinto 106,862.0 16,862.0 90,000.0
nnphg’

261106 | 1 | 1 |ROwywpwlwihb 2hGwpwnnipntl 106,862.0 16,862.0 90,000.0
wyn pynd’
1. hapGwlwd Jwenyglbnh puwilnntd 5,000.0 5,000.0 -
- Uj) Swiuubn 4861 5,000.0 5,000.0 -
2. 2nppnpn wuwnhAwih Ypwnpuyhl 26Gpkph 11,862.0 11,862.0 -
pwlindwl hGwnbwlpny
plwlywnwpwénipint GGGphg qplywd
plwlhsa6nh Ynndhg Jundwlwywo
plwhwnwlG6ph thnfuhuinnigni d
- Qnyph L uwppwynpnidbbph yupédwywintpintl 4216 1,782.0 1,782.0 -
- POwywpwOwihb Gwwuwnbbp pinuetihg 4728 10,080.0 10,080.0 -
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Snnh
[l
Pudhi
hunuip

"huu

Pntobunnuhb dwiuutph gnpéwrwywb nwuwywpgiwl
pwdhaltnh, fudptph L nwubph, hOswtu Gwb
pintobitnwihb wfuutph inbwnbuwghwnwywh

nwuwywngiwb hnnwdétbph wodwonidibbpp

LOunwukOp

wyn pynd’

Junswywl pynigki

$nlnwyhb pniob

N

N

w

N

5

o Annywidrh
MM

7

3. 9nppnpn wuwnhAwih Ypwpuyhl 26Gpkaph
pwlnntg

90,000.0

90,000.0

- GLlpbph L 2hOneyntGbBnph urenigned

5112

90,000.0

90,000.0

2640

06

®nnngltph (ntuwynpniy

4,886,596.5

4,771,596.5

115,000.0

nnhg’

2641

06

®nnnglbph |ntuwynpnid

4,886,596.5

4,771,596.5

115,000.0

wyn pynd’

1. Unuinwphl niuwynpnipywl guiligh
hhuGwGnpnqnid

100,000.0

100,000.0

- GLlpbnh L 2hOneeyntGbBnph wrenigned

5112

100,000.0

100,000.0

2. Unuinwphl jniuwynpnipywl guiligh
2whwagnpodwl b wwhwwldwla

wpfuunnuwiliplbn

2,244,951.6

2,244,951.6

- UntpuhnhwGtp ng $hOwbuwywl wtnwywh
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

4511

2,244,951.6

2,244,951.6

3. dbpwlwenigdwl L qupquigdwl
Gypnuwwluib pwilGyh wouwlygnipjuidp
hnwhwiwgynn «Gplbwih pwnwpuyhl
(nLuwynpnpywly npwdwiGnphughlG dpuighp
(wuwinydhpuiyduid (hwqnpnipyni GG6n)

161,577.9

161,577.9

- W Swfuubin

4861

161,577.9

161,577.9

4. dGpwlwenigdwl b qupquigdwl
Gypnuwwluib pwilGyh wouwlygnipjuidp
hnwhwiwgynn «Gplbwih pwnwpuyhl
(nLuwynpnipiuly dpwghp (wwnyhpwyywod
[hwqnpnipni GGGn)

1,774,495.1

1,774,495.1

- W Swfuubin

4861

1,774,495.1

1,774,495.1

5. UnbLbywl Gypnwuyp LaEpquifuluynnnipjuil
L plwwwhwwluwlwl gnpépaybnpnpywi
$nanh wowlgnippudp hpwlwluwigynn
«GpLwlh pwnuwpuyhl (niuwynpntpuwly
gpwduwpGnphuyhl spwighp (wuiinyhpwiyywd
[hwqnpnipni GGGR)

587,596.9

587,596.9

- W Swfuubin

4861

587,596.9

587,596.9

6. Ctapbnh gbnwnybuwnwluwlb (ntuwydnpnid

17,975.0

2,975.0

15,000.0

- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b
wwhwwlntd

4251

2,975.0

2,975.0

- GLlpbph L 2hOnepyntGGBnph urenigned

5112

15,000.0

15,000.0

2650

06

PlOwhwnwluyhl ;hbwpwpnipywl b YndnGuy
SweuyntpnLGG6&ph qony htunnwqgnuinwlwl b
Owfuwqduyhl wpfuwnwlplbn

12,000.0

12,000.0

nnhg’

2651

06

POwywpwlwihb 2hGwpwnnipjwb L YyndntGuwy
SwrwjnLpntbbEph gény hunnwgnunwywb L
Owfuwgéwihb wpfuwwnwbpltbn

12,000.0

12,000.0

wyn pynd’
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= ol AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp

wm = 2| 52 pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Cblpbph L phGnipynt GGGpH hEnwgnundwl 12,000.0 - 12,000.0
wpfuunnuwiliplbn
- LwjuwgswhbGunwgnunwywb dwfuubn 5134 12,000.0 - 12,000.0

2660|06 | 6 | 0 | PGwlhwnwluyhl ;hGwpwpnipjwi U YndneGuy 3,857,752.1 2,212,246.1 1,645,506.0
SweuynipyntGGEn (wy nwubphl swwnlwbnn)
nphg’

266106 | 6 | 1 |ROwywpwlwih( 2hGwpwnnipjwb L YyndntGuy 3,857,752.1 2,212,246.1 1,645,506.0
SwrwjntpntbObn (wy| nwubphl sywwnywbnn)
wyn pynLd’
1. Pwquwpbwlwnwl 26Gpaph hwipp 337,094.9 337,094.9 -
wnwbhplbbnh Ybpuwlnpngnid
- GLlpbnh L Ywrenygltph pGewghy Gnpngned b 4251 337,094.9 337,094.9 -
wwhwwlntd
2. Pwquiwplwlwnwl 26Gpbph pbp 559,206.0 119,550.0 439,656.0
wnwbhplbbnh Ybpuwlnpngnid
- <wwnnty GwwuinwywihG wyp Gneptn 4269 119,550.0 119,550.0 -
- GLlpbnh L 2hOneeyntGbEnph Yuwwhunwy yepwbnpngned 5113 439,656.0 - 439,656.0
3. Pwiluyhl tnwpwéplbnh b 1,500,802.0 319,952.0 1,180,850.0
fuwnwhpuwwuwipwlyGbnh hhoGuiGnpnqnid ni
wwhwwbniy
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 198,770.0 198,770.0 -
wwhwwlntd
- <wwnnty GwwuinwywihG wy Gneptn 4269 10,000.0 10,000.0 -
- Untpuhnhwlbp ng wbunwywl (ng hwdwybpuwyhl) ng 4521 111,182.0 111,182.0 -
$hlwbuwywb ugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGbBnph urenigned 5112 152,000.0 - 152,000.0
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 882,100.0 - 882,100.0
- Wy dbpbawobp L uwppwynpniibbp 5129 146,750.0 - 146,750.0
4. Puquwplwluwnwl 26Gpbph punbiwnquwl 897,313.0 872,313.0 25,000.0
wyy wipfuunnuwiliplbn
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 802,313.0 802,313.0 -
wwhwwlntd
- Untpuhnhwbp ng wGwnwywb (ng hwdw)bpwihb) ng 4521 70,000.0 70,000.0 -
$hlwbuwywb Yugtwytnpwnipntbbbph
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 20,000.0 - 20,000.0
- Wy dbpbawobn L uwppwynpniibbp 5129 5,000.0 - 5,000.0
5. Bnuyhl Yurnyglbnh whwignpdnid b 280,000.0 280,000.0 -
wwhwwbniy
- Uj) Swiuubn 4861 280,000.0 280,000.0 -
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6. Ywpuwyunlbph wwhuwwing 13,680.5 13,680.5 -
- LOpwghy npwdwbnphbbp wewnwywh L 4638 13,680.5 13,680.5 -
hwiwjopwht wrluinpwiht YuwqdwytpwnepntGbbph
7. YudwipnwiGgnidltph b wyy phlnipni GGEpH 180,000.0 180,000.0 -
Ybpwianpnqnid L gnibwqupnnid
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 180,000.0 180,000.0 -
wwhwwlntd
8. Ypwnuyhl wuinyquidplbnh Gnpngnid 89,655.7 89,655.7 -
- Gtlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 89,655.7 89,655.7 -
wwhwwlntd

270010710 | O unnaaunu{nt@3Nty 465,850.0 13,250.0 452,600.0
wyn pynid’

2710|107 | 1 | 0 | AHrqwlwl wuypwlplbn, uwnppbn L 202,600.0 - 202,600.0
vwppwynpnidlabn
nnphg’

2711|107 | 1 | 1 |Yenwgnpéwywl wwnwbpltn 202,600.0 - 202,600.0
wyn pynd’
1. Upnnowwwhwluwl Juqiwlbnwnipini GG6nh 202,600.0 - 202,600.0
hwdwn pdo)ywlwl uwppwynpnidbbnh
dbrppbpnid
- Wy dbpbawobn L uwppwynpniibbp 5129 202,600.0 - 202,600.0

2760|107 | 6 | 0 | UrnnowwwhnipintG (wy nuubnhl 263,250.0 13,250.0 250,000.0
swunnlyuilinn)
nnphg’

276107 | 6 | 1 |Urnnowwwhwywl hwpwyhg dwrwnipntbbbp L 263,250.0 13,250.0 250,000.0
Spwgntin
wyn pynid’
1. Upnnowuwwhwluwil opibyinGlph 250,000.0 - 250,000.0
hhuGwGnpnqnid
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 250,000.0 - 250,000.0
2. Ndquwpwdunnsbh hbirnwgnunnipyni GGGph 13,250.0 13,250.0 -
hpwlwlbuwgntd
- Uwubwghunwywb swrwjnipntGbtn 4241 13,250.0 13,250.0 -

28001080 | 0 <Uuahus, ucuuntse by urnu 4,032,758.9 3,530,858.9 501,900.0
wyn pynd’

2810|108 | 1 | 0 |<wlqunh L uwynpunp SwewynipinLGGEGn 743,429.3 241,529.3 501,900.0
nphg’

281108 | 1 | 1 |<wlOguwnh L uwynpunh SwrwjntnLtbbEn 743,429.3 241,529.3 501,900.0
wyn pynd’
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= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £ 2 & O Swuubph tnownbuwghnwlwa =2 nudthn [ & { { b

w2 3| E 2 pintobinuh n ol c = Jupswlwl pnte $nlnuwhh pynte

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Uynpunuyhlb dhonguientuGbph 135,529.3 135,529.3 -
Yuqdwlbpnwnid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 135,529.3 135,529.3 -
2. L<wliquinh gninhlG6nph L gpnuuyghlbph 558,400.0 56,500.0 501,900.0
Ywenigmid n wwhwwlnid
- EGGpgbuinhy swrwynipnLbGep 4212 30,000.0 30,000.0 -
- UndntGwy SwrwjnipnLGbEn 4213 10,000.0 10,000.0 -
- GLlpbnh L Ywrenygbtnh pGewghy Gnpngned b 4251 16,500.0 16,500.0 -
wwhwwlntd
- GLlpbnh L 2hOneeyntGbBnph urenigned 5112 372,500.0 - 372,500.0
- GLlpbph L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 118,000.0 - 118,000.0
- Wy dbpbawobp L uwppwynpniibbp 5129 11,400.0 - 11,400.0
3. LGéwhywhpwwuwinwlp ;whwaqnpéntd 49,500.0 49,500.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 49,500.0 49,500.0 -

2820|108 | 2 | 0 |Upwlynipuyhl SweuyntpyniGGEN 3,279,930.0 3,279,930.0 -
nnphg’

2821/08| 2 | 1 |Qpwnwnwlbn 592,482.5 592,482.5 -
wyn pynd’
1. Qpuinwpwluyhl SweuyntpintGGEN 592, 482.5 592,482.5 -
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 592,482.5 592,482.5 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2822 (08| 2 | 2 |Bwlqwnwlbbp L gnigwunwhGbp 317,915.7 317,915.7 -
wyn pyntd’
1. Pwlqupwluyhl dwewynipintGG6n L 317,915.7 317,9156.7 -
gnigwhwlnbulbbn
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 317,915.7 317,915.7 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2823|08 | 2 | 3 |Uwynyph wnlbp, wyniipbtp, Ysaunpnbbsn 474,142.3 474,142.3 -
wyn pynd’
1. <wduylpuyhl dywlynyph b wquiwn dwdwlgh 474,142.3 474,142.3 -
Yuqdwlbpnwnid
- UntpuhnhwGtp ny $hOwbuwywl wenwywh 4511 474,142.3 474,142.3 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

282408 | 2 | 4 |Ujy Gawynipwihlt YwgiwybnwnipntbGbp 1,295,038.1 1,295,038.1 -

wyn pynd’
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= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = 0OnwdkG

c = £l 3 v 0 swiuubph nGunbuwghnwywa =2 fruastn 1 anwihG

w2 3| E 2 pinteGunwih n sl = Junswlw pnigt | $nlnwhb pynigb

a| =2 nwuwywpgiwb hnnuétbph  wojwanidatpp =
1 1213 |4 5 6 7 8 9

1. Vpwiynipuyhl dhonguientuGbph 992,628.9 992,628.9 -
hpwlwlbuwgntd
- Qnyph L uwppwynpnidbbph yupédwywintpintl 4216 4,400.0 4,400.0 -
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 934,407.9 934,407.9 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneeGn 4267 39,821.0 39,821.0 -
- LdhpwwnynipntbGbp wy pwhniyp shGunwwGnnn 4819 14,000.0 14,000.0 -
Juaqiwybpwnipyntbtphl
2. Ybonwlwpwlwlwl wygnt 302,409.2 302,409.2 -
gniqunpnipinLGG6n
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 302,409.2 302,409.2 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2825/08 | 2 | 5 |Upybuwn 586,351.4 586,351.4 -
wyjn pyntd’
1. Gpuwdrunwnybuwnh L wwpuwnybunp 150,451.3 150,451.3 -
hwdbnqlbn
- Untpuhnhwtp ng $hOwbuwywl wenwywh 4511 150,451.3 150,451.3 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
2. Puwnbpwlwi GepYyuywignivGEn 435,900.1 435,900.1 -
- UntpupnhwGtp ng $howbuwyub weinwywb 4511 435,900.1 435,900.1 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

282708 | 2 | 7 |<ntwndwbbph L Gowynipwihbt wpdbpbbph 14,000.0 14,000.0 -
ybpwywaglnid L wwhwwnid
wyn pyntd’
1. <nipwipdwlGbph Yepwlnpangnid b 14,000.0 14,000.0 -
wwhupuwiln g
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 6,000.0 6,000.0 -
- GLlpbnh L Ywrenygbtph pGewghy Gnpngned b 4251 8,000.0 8,000.0 -
wwhwwlntd

2840|08 | 4 | 0 | Ypnbwlwl L hwuwpwluwluwl wyy 9,399.6 9,399.6 -
SweuyntpynLGGEN
nnphg’

284308 | 4 | 3 |UpnGwywl L hwuwpwywywb wy; SwrwjnipNLtbGEn 9,399.6 9,399.6 -
wyn pynd’
1. UGnwdwlgntpiul yswnplbbn 9,399.6 9,399.6 -
- LuhpwwnynipntbGbp wy pwhniye shGunwwGnnn 4819 9,399.6 9,399.6 -
Juaqiwybpwnipyntbbtnhl

29001090 | O urPENH33NHL 34,089,383.5 31,262,437.2 2,826,946.3
wyn pynd’

2910|109 | 1 | 0 | wfuwnupngwlwl L tnwppwlwl pGnhwanin 16,378,377.0 16,228,377.0 150,000.0

Uppnipyntl

nnhg’
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291109 | 1 | 1 |Lwjuwnwpngwywh Yppnipintl 9,224,592 1 9,074,592.1 150,000.0
wyn pynd’
1. Lwfuwi nqulwl niunignid 8,989,770.4 8,989,770.4 -
- CanhwOntp pGnyph wyp SwrwjnLnLtGbEn 4239 2,000.0 2,000.0 -
- UntpuhnhwGbp ng $hOwbuwywl wtnwywh 4511 8,987,770.4 8,987,770.4 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph
2. Lwfuw nquiywl ntuntguwi 200,000.0 50,000.0 150,000.0
Ywqiwybnwdwl hwdwnp wihpuidbwn qniph
dbrp pbpnid
- <wwnnty GwwuinwywihG wy Gneptn 4269 50,000.0 50,000.0 -
- Wy dbpbOwobn L uwppwynpniibbp 5129 150,000.0 - 150,000.0
3. Lwifuw nquljuwl nLpnLa 34,821.7 34,821.7 -
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 34,821.7 34,821.7 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

291209 | 1 | 2 |Swppwywb plnhwnip Ynpnepinta 7,153,784.9 7,153,784.9 -
wyn pynd’
1. <wlpwyppwlywl niunigniy 7,153,784.9 7,163,784.9 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 7,153,784.9 7,153,784.9 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph

2920|09 | 2 | 0 |Uholwlwng panhwGnip Yppnipinta 10,478,077.7 10,478,077.7 -
nnphg’

292109 | 2 | 1 |<pdGwywh pGnhwGnip Yppnepgntl 10,122,376.5 10,122,376.5 -
wyn pyntd’
1. <wlpwyppwlywl niunigniy 10,122,376.5 10,122,376.5 -
- UntpuhnhwGbp ng $hOwbuwywl wenwywh 4511 10,122,376.5 10,122,376.5 -
(hwiwybtpwih0) Yuwgiwytnpwnipjntbbbph

292209 | 2 | 2 |\UhoGwlywng (1nhd) pGnhwbnip Ypenipnt 355,701.2 355,701.2 -
wyn pynid’
1. <wlpwyppwlwl ntunigntd 355,701.2 355,701.2 -
- UntpuhnhwGtp ng $hOwbuwywl wtnwywh 4511 355,701.2 355,701.2 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph

2950|109 | 5 | 0 | Luwn vwlhwpnwlGbph snwuwlwngynn 4,599,766.6 4,469,820.3 129,946.3
Uppnipyntl
nnphg’

295109 | 5 | 1 |Upunwnuwnngwywl nwuwmhwpwyntpinta 4,599,766.6 4,469,820.3 129,946.3

wyn pynLd’
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1. Upwnw nqwlwl nuuwnhwnpwlynipintG 4,311,913.8 4,311,913.8 -
- CanhwOntp pGnyph wyp SwrwjnLpnLtGGEn 4239 62,595.8 62,595.8 -
- UntpupnhwGtp ng $howbuwyub wEinwywb 4511 4,249,318.0 4,249,318.0 -
(hwiwybapwih0) Yuwgiwytnpwnipjntbbbph
2. Upunw nquiywl Yuiquwlbnunipini 646, 80,000.0 - 80,000.0
hwdwn wahpwdbwn qniyph dGep papnid
- Wy dbpbawobn L uwppwynpniibbp 5129 80,000.0 - 80,000.0
3. «<wiynp Ynomywily Yppwhwduyhn MNUY- 7,547.8 7.547.8 -
nLd wipunuwi nqulwl nuuwnhwpuwlni pjul
Yuwqdwlybpynid (wuindppuiljuwié
[hwqnpnipni GGGn)
- Untpuhnhwltp ng $hOwbuwywl wenwywh 4511 7,547.8 7,547.8 -
(hwiwybpwih0) Yuwgiwytnpwnipjntbbbph
4. Gpwdyunwluwl L wpdbuinh nupngbbpntd 142,358.7 142,358.7 -
wqquihl jupughl b thnnuyhl GywquipnwGb&nh
qény ntunignid
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 142,358.7 142,358.7 -
5. Upunw nquiywl Yuiquwlbnunipini 646, 57,946.3 8,000.0 49,946.3
hhuGwGnpnqnid L Y6pwlnpngnid
- GLlpbnh L Ywrenygltnh pGewghy Gnpngned b 4251 8,000.0 8,000.0 -
wwhwwlntd
- GLlpknh L 2hOneyntGbEph Yuwwhuwy yepwbnpngned 5113 49,946.3 - 49,946.3

296009 | 6 | 0 | Uppnipywip wnpwiwnnynn odwlnwy 2,633,162.2 86,162.2 2,547,000.0
SweuyntpynLGGEN
nnphg’

296109 | 6 | 1 |UppnLpjwlp wpwdwnpynn odwlnwy SwrwjnipnLbbEn 2,633,162.2 86,162.2 2,547,000.0
wyn pynd’
1. Lwfuwi nqulwl hwuwnunni pint GGG, 2,5647,000.0 - 2,5647,000.0
hhuGwGnpnqnid L Y6pwlnpngnid
- GLlpbnh L 2hOneyntGbEnph Yuwwhuwy yepwbnpngned 5113 2,547,000.0 - 2,547,000.0
2. Mypnguljubabph ojhdwhwnuwiGlph b w 48,500.0 48,500.0 -
Uhongquipm dG6nh uquwlbnun g
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 48,500.0 48,500.0 -
3. Uwnbuwnwynpliwl dhongny npwlywiynpnid 37,662.2 37,662.2 -
unuwiguid niunighsG6phG hwybywyAwiplbph
wpwdwnand (wuindppuldws
[hwqnpnipni GGGn)
- LOpwghy npwdwbnphbbp wewnwywh L 4637 37,662.2 37,662.2 -
hwdwGptbph ng wrlnpwhG
Juaqiwybpwnipyntbtphl

3000(10| 0 | O unshuLuyuuL MucSMULNH33NFL 2,364,815.0 2,363,428.4 1,386.6
wyn pynd’
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3070| 10 0 | Unghwjwlwl hunnnily wpwnnGnipiniGGaGR (wyy 586,723.0 586,723.0
nwubphl swunluwinn)
nnphg’

307110 | 7 | 1 |Unghwjwywb hwunnty wpunnGnipyntGbbn (wy 586,723.0 586,723.0
nuwubpht swywunywbnn)
wyn pynd’
1. Unghuwywwbu whwuwwhny pGuwGhplbnh 7,633.0 7,5633.0
Gpbfuwbbph hwiquunh Yuquwlbpun d
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 3,627.0 3,627.0
- CanhwOntp pGnyph wyp SwrwjnLpnLtGbEn 4239 3,506.0 3,506.0
- Qpwublwywhl Gnipbp L hwgniuwn 4261 400.0 400.0
2. <wpwquin sniabgnn wadwag b 28,941.0 28,941.0
unghuwjwuwbu wiwwwhny pGunwlhplbph
hwdwpn hninwipywynpnpwi yuquwlbpunid
- Canhwlntp pGnyph wyp SwrwjnLpnLtGUEn 4239 28,941.0 28,941.0
3. Unghuwywwbu wlwuwwhny pGunwGhplbnhG 323,164.0 323,164.0
wnnlwlulb b hhpuinwlyh opbphG wowlgnipnt G
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 4,500.0 4,500.0
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 35,534.0 35,534.0
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 250.0 250.0
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 113,765.0 113,765.0
- <wwnnty GwwuinwlwihG wy Gnuptn 4269 140,860.0 140,860.0
- W Gwwuinbbp pinuobihg 4729 28,255.0 28,255.0
4. Unghwjwuwbu wiwwwhny widwlg 174,385.0 174,385.0
wowlgnipint G
- Qnyph L uwppwynpniibbph yupédwywintpintl 4216 5,320.0 5,320.0
- CanhwOntp pGnyph wyp SwrwjnLpnLtGUEn 4239 43,000.0 43,000.0
- Ushgwnuwihb L hwbpwihG ubbnh 0NN 4267 10,000.0 10,000.0
- <wwnnty GwwuinwlwihG wy Gnuptn 4269 320.0 320.0
- Untpuhnhwbp ng wewnwywb (ng hwdw)bpwihb) ng 4521 1,500.0 1,500.0
$hlwbuwywb Yugtwytnpwnipntbbbph
- W Gwwuinbbp pinuobihg 4729 108,080.0 108,080.0
- LuhpwwnynipntbGbp wy pwhniye shGunwwGnnn 4819 6,165.0 6,165.0
Juaqiwybpwnipyntbbtnhl
5. <wuwnpwlwlwl yuwqiwlybpunipini GGGpAG 52,700.0 52,700.0
wowlgnipint G
- LdhpwwnynipntbGbp wy pwhniye shGunwwGnnn 4819 52,700.0 52,700.0
Juaqiwybpwnipyntbbtphl
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= = % E=1= pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3 = oG

c = 2 3 = nwaklp
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3090 10 0 | Unghwjwlwl wupwnwwbnignt b (wyy 1,778,092.0 1,776,705.4 1,386.6
nwubphl swunluwinn)
nnphg’

309110 | 9 | 1 |Unghwjwywl wwpwunwwbnipntb (wy; nwubnhb 361,962.5 360,575.9 1,386.6
swwinywann)
wyn pynd’
1. Unghwywlwib oqlnipjwl dweuyntpintGG6nH 361,962.5 360,575.9 1,386.6
qnponLGGnLpywl Yuqdwlybnwnid
(wuwinydhpuiyduid (hwqnpnipyni GG6n)
- U2uwuinnnGbph w2fuwwnwywpdbn L 4111 349,028.7 349,028.7 -
hwyblwygwnbbp
- EGGpgbuinhy swrwynipnLtGen 4212 3,304.5 3,304.5 -
- UndntGwy SwrwjnipnLGbEGn 4213 178.6 178.6 -
- Ywuwh SwrwjnipnLtGbp 4214 1,777 .1 1,777 .1 -
- Qnyph L uwppwynpniibbph yupédwywintpinta 4216 1,200.0 1,200.0 -
- LbpphG gnpéninnLdGbp 4221 48.0 48.0 -
- Uwulwghunwyw swrwjnipntGbn 4241 172.7 172.7 -
- UbpbOwltbph L uwppwynpnidbbph pbpwghy 4252 318.0 318.0 -
Gnpngntd b wwhwwGnid
- Qpwublwyuwhl Gnipbp L hwgniuwn 4261 3,272.7 3,272.7 -
- Spwluwnpuwihb Gnipbn 4264 646.0 646.0 -
- Ushgwnuwihb L hwbpwihG ubbnh OjneGn 4267 584.4 584.4 -
- Mwpunwnhp y&wpokn 4823 45.2 45.2 -
- Jwpswywb uwppwynpniibbn 5122 1,386.6 - 1,386.6

309210 | 9 | 2 |Unghwjwywl wwpwunwwbntgjubp utnpwdwnnynn, 1,416,129.5 1,416,129.5 -
odwlnwy dwrwnipyntbbtn (wjp nwutphl
swwinywlnn)
wyn pynd’
1. MGwnwluwl hhdGwplbbph L 694,595.5 694,595.5 -
Ywquiwlbnuwnipint 6G6ph wfuwnnnlbph
unghuwywlwl thwpbeny wwwhnynid
(wunydhpuiyduid (hwqnpnipyni GG6n)
- W Gwwuinbbp pinuobihg 4729 694,595.5 694,595.5 -
2. Upnnonipywl wwwhnywaqnpnipint G 676,534.0 676,534.0 -
- Uywhnjwgnpwywb dwfuubin 4215 676,534.0 676,534.0 -
3. Wlnwnwyuqih wpfuunnnnGbph 45,000.0 45,000.0 -
unghuwywlwl thuwpbeny wwwhnynid
- W Gwwuinbbp pinuobihg 4729 45,000.0 45,000.0 -

310011110 | O <hUlLuyuvu AUGhLLENPL 2NUUYNN 10,447,241.0 9,328,174.6 1,119,066.4

MuULNFUSU3hL dNuIeN

wyn pynd’
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c |lal o AnLobnwhh dwiuubnh gnpéwrwywl nwuwlywngiwl | 5 wyn pynd’

C = =| 3 o pwdhaltnh, fudptph L nwubph, hOswtu Gwb 3

c= 2 23 = = QOnwakap

o 2 2 _5 E pinoGnwihG dwiuubph nbwnbuwghunwywl == Jwpswyw pjniot | $nlnuwyhb pneet

= nwuwywpgiwb hnnuétbph  wojwanidatpp =
11213 |4 5 6 7 8 9

3110|111 | 1 | 0 | << ywrwywpnipjwl L hwouwylGpGph 10,447,241.0 9,328,174.6 1,119,066.4
wwhnruwnuyhl pnln
nnphg’

311211 | 1 | 2 | << hwiwGpubnh wwhniunwhl $nan 10,447,241.0 9,328,174.6 1,119,066.4
wyn pynd’
- Mwhntunwpl Shongbip 4891 10,447,241.0 9,328,174.6 1,119,066.4
-{wunyuwgntd wwhrunwhb $nlnhg $nlnwhb pjniok X - - -
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